HE-FTLF=A=+-ALTE

BB E

BHE=HA=1t—HLEE
—ET=F —ETE —TTRF ZETNF —EELE
FET FH T FETT FETT FET
EER 60,252 192,850 65,862 17,778 28,624
B F AT 2 45 &

(E518) /% F (33,026) 15,345 (56,509) (23,026) (3,567)
JEEEEDEEE (663) — — — —
BrELAT (B518) % (33,689) 15,345 (56,509) (23,026) (3,567)
I8 (122) (4,789) 39 (179) (1,279)
B (B8 %5 (33,811) 10,556 (56,470) (23,205) (4,846)
DEBRRER 111 2,209 5,995 2,441 1,191
AR (G (B518) & Tl (33,700) 12,765 (50,475) (20,764) (3,655)

R=A=+—H

—EBE=F —EEPNF —ETRHF —EETRE —EELHF
FHT FHIT FBT TBIT FET

EEREE
BB E 202,592 191,192 117,948 104,107 94,887
BaEE (64,494) (46,309) (29,769) (37,437) (29,421)
DERRER (19,738) (9,749) (3,579) (1,191) —
f& R = 118,360 135,134 84,600 65,479 65,466
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